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QUESTION 1

A moving company provides customers with a tool that recommends a moving vehicle based on the number of
bedrooms in their current living space and whether they are planning to move heavy furniture like bed frames,
mattresses, or couches. Based on the customer inputs, a decision table presents the customer with a recommendation.
Which two configurations, when applied in combination, apply to the decision table?

A. Create rows for the recommended moving vehicle.

B. Create a column for the recommended moving vehicle.

C. Create two columns, one for the number of bedrooms and one for whether the customer is moving heavy furniture.

D. Create two rows, one for the number of bedrooms and one for whether the customer is moving heavy furniture.

Correct Answer: AD

QUESTION 2
An accident claim case creates a vehicle claim case for each vehicle involved in an accident.

Which two configurations prevent the accident claim case from resolving before all vehicle claims are resolved?
(Choose Two)

A. Add each vehicle claim as a child case of the accident claim.

B. Add a manual approval step to the accident claim case.

C. Add an optional process to pause the accident case until the vehicle claims are paid.

D. Add a wait step to the accident claim case to wait until all vehicle claims have a status of Resolved.

Correct Answer:. AD

QUESTION 3

A requirement states: The date of birth submitted for first grade students must be at least five years before September 1
of the current year. Which three validation methods, when applied in combination, satisfy the requirement? (Choose
Three)

A. When rule

B. Calendar control

C. Date data type
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D. Validation rule
E. Edit validate rule

Correct Answer: BCE

QUESTION 4

A purchase request list report includes columns for case ID and regional cost center. A manager wants the report to
show the total number of purchase requests for each of the regional cost centers. How do you configure the report
definition?

A. Summarize the regional cost centers by count.

B. Create a filter for each cost center and count the case IDs.

C. Summarize the case ID column by count.

D. Define a function for the cost center column to total the case IDs.

Correct Answer: C

QUESTION 5

Customers on a hotel booking application can add additional amenities to their reservation. The application displays a
view with the available amenities, descriptions and costs. To reduce scrolling, the content is organized into multiple
areas. Each area is accessed using a drop down menu that lists each amenity.

How do you configure the user interface to improve access to the content and achieve the business requirement
described?

A. Configure a disable when condition on each field to allow access when the associated amenity is selected on the
drop down control.

B. Configure a repeating dynamic layout with an embedded section for each amenity and set the layout
C. format to grouped.
D. Configure a layout group to separate each amenity into individual panels and set the layout to a menu format.

E. Configure a visible when condition on the drop down control to display each section when the associated amenity is
selected.

Correct Answer: A
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